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 (DEFUN CONTAR(A)
                  (IF (NULL A)
                      0
                      (IF (EQUAL (ATOM (CAR A)) T)
                          (IF (= (MOD (CAR A) 3) 0)
                              (+ 1 (CONTAR(CDR A))) (CONTAR(CDR A))
                            ) (CONTAR(CDR A)))))
CONTAR
 > (CONTAR A)
2
 > SETQ B '(3 4 ( 5 6 )( 7 8 ) 9 10 11 12)
(3 4 (5 6) (7 8) 9 10 11 12)
 > CONTAR B
3
> SETQ C '(3 4 ( 5 6 )( 7 8 ) 10 11 12)
(3 4 (5 6) (7 8) 10 11 12)
[image: ]> CONTAR C
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8 > (DEFUN CONIAR (&)
frr oL 3y
o
(IF (EQUAL (ATOM (CAR 3)) T)
(IF (= (40D (CBR 2) 3) 0)
(+ 1 (CONTAR(CDR 2))) (CONTAR(CDR 2))
) (CONTAR(CDR 2))
)
L |

8 > (CONTER 2)

8 >SETQB (34 (56)(78) 9101112

(78 81011 12)

8> CONTRR B

8>SETQC '(34 (56)(78)101112)

(78 1011 12)

8 > CONTR C




